fTR2 HEEREREGER

(1) “Fpk 28 4R

Rk 28 AEREIE. AN & 2 KB O BFRHERE O EA I E K OO L LT

A E LT S0 2 BRI E O E 2 50 L7z,

(2) Fpk 29 FE

WRR 29 AEREIE, R THEN S KR O BFEREEO R X E L O m SR O L LTE

X 5y N K X 4 R
H B H
BB oK A& B | RAak | BH K & # R w
i [ 24 24 = a3 44 44
& E} 24 24 PR S (MY A ETe) 19 19
N K 12 12
% Ea 35 35
B &l 22 22
= i 12 12
PAONEE 52 52
JE ¥ (FM) 1 1
T ¥ (EM) 4 4
4] ¥ (FM) 9 9
ES ZE (FM) 3 3
= i 213 213

A E UTHEN S0 2 BRI E ORIE 2 0 L7,

X 5y moY K X 4y e
H B ek
R B K|l A B | Far | BHH g ki R
1 () 8 8 o 4 4
& 2 8 8 = 14 14
= i 6 6
s+ [ AR 29 29
B ¥ (FM) 1 1
e ¥ (FEM) 6 6
& i 60 60




(3) FRk 30 4
Rk 30 AFERENE, NV THEH S5 BRI E L OV e T S 45 2R X E Ok
TE % Fhi L 7=,

X5 I X5 T K
i il H B
e RO | A K| Rek |BH SO A K| RER | B
Br
m(ETEZHTL) 27 217 s = (M EETe) 1 1
Za = (MKEETe) 14 14 = at 1 1
H # 36 36
i = 24 24
£k 8 8
woO% 6 6
[ il T 6 6
E = 2 2
1% Gl 10 10
CONEE 7 7
i 1 24 24
& 3 164 164

(4) SfcHEE
SRTEEIT, PR THEA SN2 EEHNEOKREZ £l LT,

X 5y mo% R
H it
A RO A K| RERK | B
BR o
H(ETEEETD) 20 16 4
Zan = (MM %5 Te) 21 19 2
# Es 21 21
B = 15 15
i3 % 6 6
* i 6 6
Rk E 4 4
T - K 8(1) 6(1) 2
eSS 7 6 1
PR 7 7
& i 115(1) | 106 (1) 4 5




(5) 24K
T2 EZIT, MEARTHEA SN BFRHXEROCH AR THEA S B HKED
WRE % i L7z,

X4 R X5y B K
i il i il
A Ao | A K| AR | W oEE | ER Ao A K| REE
B R o
& 34 34 thes (MR % & T) 2(2) 1(1) 1(1)
HERLEE L (MK % A Te) 37 36 1 & Fk 2(2) 1(1) 1(1)
W % 48 48
b2 # 43 43
RIEEE 3 3
= it 12 12
o = 43 42 1
ER JiE 16 16
b2 5 2 2
1% # 12 12
JH * 4 4
T % 21 21
o % 17 17
7K E 2 2
fE#w () 2 2
i Ak 2 2
& i 298 296 1 1

() (1) BHFOREITHOW TR, AR KERE P 5522 B ISV, FAER], FE A BN E
26D THD, ZOHEEKIT. MEEBOMERTHY . B HIIAFR3 LB ALY, f
ZIXE-FTE2MHT1IAELTNS,

(2) HEREIZOWNWT, AEKE SINTZHFEEIL. TOREBICLEREELZMNA T
—EWHNICHRFE T 2N T DL ENRTWD, 2B, /s FEEHAOER
. F—FERNIIThND25GE EREEIITONIGAERDH Y . BEFKHOHEH
X, BEEITPND, () NOHTFEAABXEOHERETHY ., WETRL
W5,




